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%Part (a)

% This function was found to be periodic
ta=0:6*pi/150:6*pi;

xa=sin(2*ta)+cos (3*ta+pi/6);

$Part (b)

% This function was not periodic but the
% for the first cos term
tbh=0:3%pi/150:3*pi;

xb=cos (2*tb)+cos (pi*tb);

%Part (c)

% This function was not periodic but the
% seconds

tc=0:6*pi/150:6*pi;
Xc=exp(-tc).*cos(tc);

FPart (d)

% This function was found to be periodic
td=0:6*pi/150:6*pi;

rd=2*exp (j*2*td)+3*exp (§* (3*td+2));

$Part (e)

This function was not periodic but the
% seconds

te=0:6*pi/150:6*pi;
xe=5*te-exp(-j*(te+3));

o°

sPart (d)

% This function was found to be periodic
tf=0:12*%pi/150:12*pi;

xf=sin (2*tf) +exp(j*(0.5*tf+1));

subplot (6,2,1), plot(ta, xa)
title('x(t)=sin(2t) + cos(3t+pi/6');
ylabel ('Part (a)')

subplot (6,2,3), plot(tb, xb)
title('x(t)=cos(2t) + cos{pi*t)');
ylabel ('Part (b)')

subplot (6,2,5), plot(tc, xc)
title('x(t)=exp(~t)*cos(t)');

ylabel ('Part (c)')

subplot (6,2, 7), plot(td, real(xd))

with T=2*pi seconds

longer period was multiples of pi

cos term was periodic with T=2*pi

with T=2*pi seconds

exponential term was periodic with T=2*pi

with T=4*pi seconds

title('x(t)=Real part of Zexp(j2t)+3exp(J(3t+2))");

ylabel ('Part (d)')
subplot (6,2,8), plot(td, imag(xd))

title('x(t)=Imag part of 2exp (j2t)+3exp (3 (3t+2)) ") ;
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subplot(6,2,9), plot(te, real(xe))
title('x(t)=Real part of St-exp(-Jj(t+3))");

ylabel ('Part (e)')

subplot (6,2,10), plot(te, imag(xe))
title('x(t)=Imag part of St-exp(-Jj(t+3))1}1");
subplot (6,2,11), plot(tf, real(xf))
title('x(t)=Real part of sin(2t)+exp(j(0.5t+1)) ') ;
ylabel ('Part (f)')

subplot (6,2,12), plot(tf, imag(xf))
title('x(t)=Imag Part of sin(2t)+exp (J(0.5t+1)) ') ;
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£=-2:8/1000:6;
xl=unit_step(t+1)—2*unit_step(t~l)+3*unit_step(t—4)—2*unit_step(t—5);
x2=unit_rect((t—2),4)~unit_triangle((t—2),2);

subplot(2,1,1),plot (t, x1)
title('Problem 1 Part (a)')
xlabel ("time (s)')

axis([-2 6 -1.5 2.5])

grid on

subplot(2,1,2), plot(t,x2)
title('Problem 1 Part (b)"')
xlabel('time (s)')

axis([-2 6 -0.5 1.5])

grid on
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